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Nice and easy

40

Do NOT use a calculator! &
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# Bit more to 1t
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34

X6

+ 16

Double it
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4 of 1t
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Times itself

Times itself

Answer =

X 8

- 16

3/8 of it

2/9 of it

X5

5% of it

Times itself

25 % of it
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Challenging

38

X 20

Less 10 %

25 % of it

331/3 % of it

+ 13

400 % of it

30 % of it

7/12 of it

X7

Answer =
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v Nice and easy i‘ Bit more to it ‘ Challenging

8
40 34 ’
T 8 x 20 =760
40 +5=38 34 + 16 =50 SOX /
10 % =760 + 10 =
8x6 =48 50X 8 = 40 76
- 760 — 76 = 684
48 + 48 = 96 400 — 16 = 384 684 + 4 =171
96 + 4 =100 (3/8) X 384= 144 171 - 3 — 57
100 +4 =25 (2/9) x 144 = 32 57+ 13 = 70
25 —7 =18 32X 5 =160 400 % =4xX70 =
— 280
18 +9=2 (5/100) x 160 = 8 3 2
0.3x280 =84
2X 2 =4 8x8 =64
(7/12) x 84 = 49
4X4 =16 64 +4 =16
49 X7 =343
Answer = 16 Answer = 16 o
R > finswer = 343 ’ ,




